o A S wienfimn sifer @i gz s

(A) T (B) wefz) (C) T (D) e
o Trojan virus was released 9 numerous SolarWinds Orion Platforms.
(A) Spy (B) Rootad (C) SUNBURST (D) Ransom
2. et 3 o gw iR ) e Al am o
(A) areEm (13),_leifg) () {fsrm (D) TitzawT
What is the name of Earth's first mlwumincnt ?
(A) Vaalbara (B) (ﬁ‘::.(é;; (C) Pangea (D) Gondwana
3. N a2 we nda it a1 ST 3V ST ST T R 2
SfqUitgieT T iy ® (B) I
iy fandw (D) form = v
Which organization provides loans and grants to the world’s poorest developing countries ?
(A) International Monetary Fund (B) United Nations
(C) World Bank (D) World Trade Organization
4. e gea At Fafafaa mﬂgun%asﬁmw%:
(A) T ia (B) SHEEHAT
(€Y snfede womeft (D) STETF
In Vedas, human right is signified wﬁglhc concept of :
(A) Equality <] (B) Inequality
(C) Economic system ®) (D) Untouchability
5. &t faw T wen Raw & w9H s s e 2
(A) 15370 (B) 16 (C) 14378 (D) 13 30
Which day is celebrated as *World Aﬂ)ay‘ every year ?
(A) 15" April (B) 161 ;z%il (C) 14 April (D) 13™ April
wefta 3

6. VR Tl 1 3T 352 g@ w9
(A) AU F T3 I 907 (B) wistamd i fgfs it g 3
(C) e &1 T G =) AT (D) T STTTARTCT 1 ITATIOT F
Article 352 of the Indian Constitution primarily deals with :
(A) Proclamation of the formation of a new state  (B) Proclamation of appointment of CJ1
(C) Proclamation of dissolution of{hé Lok Sabha (D) Proclamation of national emergency

'ﬂ%araﬁaﬂ'{mvhmﬁ(sczsnu@ﬁmﬁmﬁm%%mwmmﬁqmwiam:g'a

forar o ?

(v Bzemden  (®) wEHEn © fmadEn () R

Which programme was launched bygthe Indian Government to promote entrepreneurship among wome:
and SC/ST communities ? -

(A) Stand-UpIndia  (B) Start miﬂ (C) Skill India (D) Digital India

8. Wmﬁmmmﬁﬁﬁﬁ%mzﬁﬂéﬁﬁ?

(A), FOEATH @) (B) e wgEn
(C) e 3R g (D) 3 wow
The Vijayanagara Empire was founded in 1336 by :
(A) Krishnadevaraya (B) Narasimha Saluva
(C) Harihara and Bukka (D) Devarayal
9, T ITer  wrew & forehl sEE qufw )
(A) 20 fafemm (B) 15 fuferm (C) 10 ffermm (D) s faferg

Mega cities are the cities having a population more than g
(A) 20 million (B) 15 million (C) 10 million (D) 5 million

---------




10, Fore SRl Ao 1 St swinfaa v afirt w1 60 @ A 31 % AW = T 3,000 Why W@ G &

FATR?
(A)  SoT 5 o Ay g () et T e
(C) W =it sfias s=afa wfir s (D) wur siEf) 7 A A

Which Indian scheme aims to provide a pension to unorganized workers, assuring a minimum pension of
% 3,000 per month after the age of 60 years ?
(A) Pradhan Mantri Shram Yogi Maandhan (B) National Pension System
(C)  Pradhan Mantri Jeevan Jyoti Bima Yojand_) (D) Pradhan Mantri Vaya Vandana Yojana

11, w iR 3{TE N daen Rk g fedt MR 0
(A) R, mafem (B) o, i (C) 3res BHe (D) 3917, Ziefr
“The Chronicles of Narnia™ series is written by f\,vl]om ?
(A) JK.Rowling (B) C.S, Lewis (Eq)_ (C) Roald Dahl (D) J.R.R. Tolkicn

12, S :mgm %wﬁmﬁﬁmﬁaﬁaﬁrﬁaﬁﬁ@ﬂm TeqATE’ A G A B A
I h FHEAT o e 2 arelt Rufa weard 8

(A) e SEE 3fg <] (B) asft & saen 3fa
(C) T SEE afg @ (D) AT S

The number of people entering a population through ‘birth’ or immigration” being equal to the number of
people leaving it via ‘emigration’ or ‘death’ is called :

(A) Negative population growth (B) Rapid population growth

(C) Zero population growth (D) Positive population growth
13 WTeta a1 ST 371 FednT (ITEC) e ) 3274 41 2 9

(A) Taia amsml & fafaea w5 o2 (B) &= wedmm dgE

(C) HiEHe SEH-NEH i ST 31 od (p/mﬁmqénﬁmmm

What is the purpose of the Indian Technical and:ﬂ:onomic Cooperation (ITEC) programme 7

(A) Regulating financial markets ® (B) Enhancing military cooperation

(C) Promoting cultural exchanges (D) Providing technical assistance and training
14. 9 & GST Higel § Gra-13T1 () F Hem &

The number of structures in India's GST model ié}

(A) 4 ®) 5 @ © 6 ®) 3
15. \woésaﬁmqprﬁmﬂqﬁ? -

(A) Femafe mfced (B) wif=et g aet

(C) ST FHTHI=il-geetr (W%rfim

Who is the current Director-General of WTO ?

(A) Claudia Goldin (B) Hernando de Soto

(C) Ngozi Okonjo-Iweala () (D) Eric Bettinger
16.  ufirg Iv=am 2 itgwra fopen g feran e vl

(A) wftatr s (B), siAfie o8 () Fmzvam (D) Rres W

The celebrated novel ‘Thd’(fodfmher‘ was nuthm:e]] by whom ?

(A) Mario Puzo (B) John Milton @) (C) Vietor Hugo (D) Harold Robbins
17. PANF i EqFIR ? [_J

(A) wrgaz arFTaw Ja (Frsft am den) X (B) Rl 7T a0 (SafReTa W A1)
ig) Tz s A (e e S (D) g sy e i EEm
h

at is the full form of PAN ? ©)
(A) Private Account Number (B) Personal Account Name
(C) Permanent Account Number (D) Personal Account Number
B S e s s et TSRS SRR S
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20.

21.

22.

123,

24,

(An FZ A& @B Heft 31, Wi
(C) =3I, F7 3= (D) Ferisfiet Pofer
Who is the author of the book “Human Rights and ]E{lltll:ll\ Wrongs™ ?
(A) Upendra Baxi B) Soli J. Sorabjee
(C) V.R. Krishna Iyer ©D) Chiranjivi Nirmal
BRvar T e ]

et o) Sterary wonedt % fev s wmifies @ @

_()V*{‘f (B) wwrET £ Ewt

() \L?nfﬂumﬁ (D) T St

The primary source of energy for the Farth's climate system is :

(A) The Sun (B) Occan currents

(C) Geothermal energy (D) Nuclear energy

e 3 et amraarter Wit e w syftren ek o 2
w unfd (B) #Ha

(C) AT (D) faE

Who has the authority to declare a financial cmcrg,éécy in India ?

(A) The President od B) The Parliament

(C) The Prime Minister & D) The Finance Minister

e e W e W e e gw § A wE, % e R s S
3iT-fenie wnrem 3 an # gar o Fad 8 | .
(A) T TR (B) =ediqer Lle) smivrea (D) TR |
Facebook customers can find out about special nf’féf]u and on-demand promotions via , one of the '
most important social media marketing tools. ®)

(A) Post Planner (B) Chattypeople (C) Agorapulse (D) SocialOomph

Pr=fafiaa i & w5 afena i gawrE R 2

(A) @&l (B) TrsmmE (©) (D) foerez

Which of the following is the capital of Bangladesh ?

(A) Khulna (B) Rajshahi A (C) Dhaka (D) Sylhet

o 1 SR AR e ST ST e 3w i s e 2

(A) 59 (B) 79 o{C) 47 (D) 63T

Which day is observed as the ‘International Dismﬂamcnt and Non-Proliferation Awareness Day” every

year ? @
(A) 5" March 8) 7" March o 4™ March (D) 6™ March
e 1 1, e W §aTs 37EE i gAEn! & 2023 ﬁaaﬂwﬁmﬁ%ﬁ?

(A) S et sierida gas SrgeT &

(B) T ACEITATS W2 SR T 3geT

(C) Hinirer siEit gaTs 7S

(D) A famarsht wenst sde TS 37T

Recently, which Indian airport received recognition at UNESCO's 2023 Prix Versailles ?

(A) Indira Gandhi International Airport

(B) Sardar Vallabhbhai Patel International Airpo{'l_)
(C) Kempegowda International Airport o)
(D) Chhatrapati Shivaji Maharaj International Aiggbrt

-‘mym{amww°w%éﬁmﬁﬁ?(l
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26.

27.

F1-91 atafr wrar st wa & m%%qﬁﬂazjﬁmwnﬂ%m:ﬁwaﬁ%ﬁmm
SIS 9T AT AT A 9T &0 ‘

(A) IR W mf,glsrlml F T

(C) e wwzta (lmﬂﬁfm ulzre

Which international agreement focuses on the pmlcctiu@?l' the ozone layer by phasing out the production
of numerous substances responsible for ozone depletion

(A) l(ynlu. Protocol (B}—Geneva Convention

(C) Paris j\»:rcc:'ncnt (D)<L!onlrcal Protocol

faeeft 1 Teen gem AR w9 ®

(A) Feqafue (B) arar3dT fiaersht

(C) FaIEH UaH : (D) @&

Who was the first Sultan of Delhi ?

(A) Tltutmish (B) Alauddin Khilji

(C) Qutb-ud-din Aibak (DUnIbun

T A i e o o

(A) i ﬁmﬁfﬁ (Bpderet =

(C) e g (D) frrd Aafeim

Who discovered Nitrogen ?

(A) Benjamin Franklin (B%nrl Benz
(C) Daniel Rutherford (D}=Richard Gatling
28, Fr=feifiad & 4 a1 sitvadt amra ada 8 2
" Which of the following is the GST common portal 2 @)
(A) www.pgstgoviin  (B) _navw, gst.in (C) www.gst.com (D) www.gov.in
29, form wda #1 a ATEET FRT AT R 2
(A) Ffnfe (B) WS UHGE (C) femrem (D) it gdfa
Which mountain is called the ‘Blue Mountain® ?
(A) Nilgiri (B) Mount Everest (COThc Himalayas (D) Mount Fuji
30. =mE e @ wn Sfm R 0 3
(A) o Pt i s ot g e & e g o & O3
(B) ¥ et 391 3 =rd = Tt wran <
(C). 5 et 3 e s vttt s A & @)
(D) & fodt 21 sy e wgfer atar @ ]
What is meant by a ‘trade deficit’ ? <]
(A)  When a country’s exports exceed its imports
(B)  When a country has no trade at all @)
(C)  When a country’s imports exceed its exports
(D) When a country’s trade is balanced
3. 3w wdar (a7 st wfe) i gt & vt w6 e, R dar R s S i g
3 & Fay amarar e snan @)
(A) #erwa (B) faeiam (C) argdl (D) et a1 wEErard
Same the traditional form of wrestling in Uttar Pradesh (including other States), which wrestlers practice
Ina specially prepared mud pit called an Akhada.
o (A) Mallakhamb (B) Silambam (C) Kabaddi (D) Kushti or Pehalwani
XV Page§orzy T e
T R —— o
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frar afzen 3 3 gt e i I, aﬂﬁﬁ Aifar st iftay wanE 39T & o oF T ik e

foqrd ndt ) _ -
(A A dd (UNEP) (18) 701t (UNESC (&1 (C) URUIL(FAO) (D) FT4F ;
Which institution released the report titled “Sanc and Dust Storms : A Guide to Mitigation, Adaptation

32

Policy and Risk Management Measures in Agriculture’ ? '

(A) UNEP (B) UNESCO @) (€) FAO (D) World Bank
I\ 33. wﬁmqﬁaﬁﬂmm%&ﬂw@aéﬁr?[l o

(A) ArpEe v & <] (1) A AR G (AT

. AT EE | 4l F 0 H

(€) et it e 1w i @ (D) ITHSAHLS

Earth’s Albedo is largely affected by the :
(A)  Atmosphernic layer
(C) Nature of the Earth’s surface

34, Sume A wrEn Praes Zm st nd ot

(B) Cloudiness
(D) Dust particles in the atmosphere

(A) Trenfers Therfer () (B) S dtead 3w wirem FF
(C) i iise o (D) e
Th/mu.um. of DNA was discovered by whonf®
(A) Rosalind Franklin &] (B) James Watson and Franeis Crick
(C) Gregor Mendel @) (D) Charles Darwin
35, o dw 3w d Apfwor m amd fen e [
(A) Hzer ¥ T e <] (B) @ 3T i
(C) et frad &% @ (D) VA 22 3%
Which bank supported the demonetization in India ?
(A) Central Bank of India (B) Bank of India
(C) Reserve Bank of India (D) State Bank of India

36. ﬁﬂﬁrﬁaanaﬁmmwﬁaﬁmﬂamﬁmmmm%qmﬁmm&mmmﬁmg »

(A) arzeREfeT O (B) AR
(C)_#F 3 (D) Tty

Which of the following cybercrimes involves dcc-1iving individuals into revealing sensitive information ?
(A) Cyberbullying (B) Malware

(C) Hacking © (D) Phishing
37, wfeer i ST QEERR MW A AT e W L] x|

(A) A T o « (B) wferf amrg

(C) war @ () iz ¥

The first Indian to receive the Nobel Prize in Literature was .

(A) C.V.Raman (B) Sarojini Naidu

(C) Mother Teresa (D) Rabindranath Tagore ‘

ST AT T N R 2

(A) Az (B) ¥ ©y afefa (D) T

Which is the capital of Germany ?

(A) Madnd (B) Abuja (C) Berhin (D) Canberra R
T Pl R s
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39.
v

co v/iiay, 7
V' Uty S

q}qmﬁm%mﬁﬁmﬁaﬂt@m?mﬁmﬁmmmmmmmmo&ﬂ’rammi
wEat @ | 37 37 =k w6 e Fra A e
(A) T (B) 3IW (C) =fam (D), e

A person performing yoga starts facing North and then turns 90 degrees counterclockwise followed by
another 180 degrees counterclockwise. What direction is the person facing now ?

(A) East (3) North (C) South (D) West

ferw o wer o, < w7 g i Ay E, St Rl e @ 53 gu ¥ ) v e i 3w e fr e Bt
qa:%#?mﬁaf&w:m%mﬂ}%mmﬁhg-s)
Eicige: e ::;ﬁi: ? 05
(A) dr=n (B) ™ oA C), @z (D) &=
In the given question, there are two words to the lzﬁor the sign :: which are connected in some way. The

same relationship obtains between the third word and one of the four alternatives under it. Find the correct
alternative. €

i

Sugar : Sweet ;; Lemon : ? D
(A) Yellow (B) Juice QC) Sour (D) Fruit

afE ASB H ¥ A, BRI, A # B FT AR A BE TR Ax B FHG2 A B TA A

(g 5 s .
C WAXxYSURW UR R wefmd?

42,

(A) (B) =i (C) =raT (D) =H

IF*A S B" means “A is the father of B'; ‘A # B means ‘A is the mother of B': *A % B' means *A is the
sister of B'. then how is W related toU in W# X xV$U?

(A) Grandmother (B) Mother L]C) Grandfather (D) Mother-in-law

o o ; .
e ffér s A, 48 7 31 “which school” & 3t 968 T 31 “college and school™ ¥ | =51 ¥ fom wrz w7
22

In a certain code, 48 means “which school” and gs means “college and school™. What is the code for
school ?

(A) 4 (B) 6 C) 8 (D) 9
e sjaen # @ fr os" &5 K ¥ o TR 3 K ¥ 3 e o B 7

How many *S" arc there in the following series thafbme immediately before K and immediately after K ?
SSKSKSRKSPOKSKSKS
(A) 3 (B) 2 € 4 (D) 5
X
4, 1. x#ysiawmeEx y fiaid X yrE-
o : e
2. vszifmmmEfFEy, zamad R O A
3. zrASEFaR Rz, ARAAR zg ___:_Li
At e aftar 1 frar i 2 2 e
(A) A B z \JC) X (D) Y
I. X #Y indicates X is the mother of Y. G)
2. Y $ Zindicates Y is the brother of Z. ]
3. Z* Aindicates Z is the daughter of A, "/I
Then who is the father of the family ? é
(A) A ®) 7 Yo x ) Y
BXV.3q T TTTTTTTTII I s e Page Tof2d
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45, Frafafir wrdand v g % v if Beo o e el B st 2 ) Tré-are 1 sore e o
I I A 3 A

A EdE W v o g et fbr = ol )
AN E

e eh =6 e fafie s 3 R sz e 7 40,200 2, A e g 3 e g e e s
(A) 21,000 (B) 722800
The following pic-ch
book. Study the pie

(C) 720,100 (D) %22.500

art shows the percentage distribution of the expenditure incurred in publishing a
-chart and the answer the question based on it,

Various Expenditures (in pgu'g'('nmgcj Incurred in Publishing a Book
Promotion Cost

Transportation Cost
10%

Binding
20% Paper Cost
25%

If the printing cost for a specific quantity of books amounts to % 40,200, what will be the expenditure for
promotion of these books ? ¢

(A) 21,000 (B) ¥22,800 ;e', (C) 20,100 (D) ¥22,500
46. St FEET AR D i s, sfun S Fafe w0 e 38 o 23 s ek
b %mfau%aﬂaa?rq\ﬁﬁamﬁmmm%mﬁmm%?

A .
%\‘é.u (A) 44 fiyre (B) 4sfme © (C) 35 fire (D) 48 e
0

Walking %ﬁ' of her normal speed, .-\thir;m IS minutes late in reaching her office, What is the usual time
taken by her to cover the distance betweencher home and office ? ’
(A) 44 minutes (B) 45 minmc,\aJ (C) 35 minutes (D) 48 minutes
47, Tt e i x 3t y 10 T i
Find the value of x and y in the following series :
U4, R8, 016, x, 164, F128, y

(A) K24, D34s (B) G32, E256 (C) L32,C256 (D) M32, B345
M e X ¥
MR £ 3,1 /s
N L
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4y, T ad-ad v afte A vitep s fore Rorrse antar @t e R ) 05 afear £ e mfies
mﬂz.sm%.n‘raﬁmaﬁkuﬁrﬁwmﬂgmm{ﬂ_}rﬁﬁnéqmnrﬁmnﬁrwﬂ? ‘

v A 1 e =

(A) T12,200 (B) 718,500 o5 () £11,700 (D) % 11,000

<
The pie chart provided shows the percentage breakdown of a family’s domestic expenditure. If it is given
that the family's total monthly income is ¥ 32,500, then what is the total monthly amount spent on food
and entertainment combined ?

Domestic Eré?lfdi:m of a Family
&)

Provident Fund

)
Child 4
Education’

(A) %12,200 (B) ¥ 18,500 & () 11,700 (D) T11,000

49. UF Tt &, 30% FEr afgend # | 60% wfeen i sl 40% g e Tt § | wafem ®
sfaaifea sd=niei # afag@ w2
In an office. 30% of the stafT is female. 60% of the female staff and 40%% of the male staff are married. The
percentage of the unmarried stall in the office is
(A) 46% (B) 52% (C) 48% (D) 54%

N s .- e e epe PSR T T S D L Ll L bbbttt

BXV-24 Page 9 of 24
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3¢ R=1% DEEP et In2sgse
3 /

> L
Ky \j.'?'.’-‘i E_Eé—L”

T3 F Sp=17

50. 11 weEwE aret vE fFke 2 1 W 29 @ 2, A TFz A Fwm & aw ad am 2 | afy wee o
Rz e 1 sy 2 9 Pt s, 7t 2w 6w Ferenfidt 1t s 3 90 A A SitHd 31 & @ ad A
21 Zm A i s 20
(A) 23 (B) 217 (C) 227 (D) 247
The captain of a cricket team of 11 members is 29 years old,
the captain. If the ages of the captain and the wicktrke
players of the team is two years less than the avefige
the team ?

and the wicket-keeper is four years older than
eper are excluded, the average age of the remaining
age of the whole team. What is the average age of

(A) 23 years (B) 21 years <{C) 22 years (D) 24 years
51, mﬂw:ﬂﬂiﬁm @
Find the dissifafiar term, D
3X5. 4U3, 2R4, 302, IM3. -
(A) 302 (B) 2R4 *-JC} 4U3 (D) IM3
52, AT HEAr s A ®)

Find the dissimilar number.,
1, 3,12, 60, 340,

(A) 340 m) 3 <) 12 (D) 60
53. fFrafafaa i a Samamat i W
Which among the following is not a leap year? 1,@.,?\3"“ S
(A) 2004 (B) 2024 AC) 2020 (D) 2014 ofi
54, i fran ST TS AT 571 37T Al wr e fm e 2 0
T (A) Imafim (By A€, Al (D) zfarm.afim
A person walking towards North-West direction sees his left hand in which direction ?
(A) North-West (B) North-East @ C) South-Fast (D) South-West
§5. Y@en9, 72,243,576, gt ifsw
Complete the series 9, 72, 243, 576, _ <. (\]
(A) 1125 (B) 998 @C) 1250 (D) 876

56. af2 DEEP 130, SEA #1 25 ¥ = S #ifea fem s 2. RIVER %1 foFm =9 & #ifeq iy smom o
If I)EE]'/is coded as 30, SEA as 25, then RIVER will be coded as

(A) 15 (By 72 (C) 20 (D) 56
57, afE 4 Frand o R, A RS wR
o If *#° stands for *x!; what is 3#5 2 @)

(A) -2 (B) 2 e¥C) 15 (D) 8

8. AT a-b=afsbiarbebi+aR A3 ~6)2 27 |
Ifavb=a*+ba b= bi+a find(3~6)"2. ~
(A) 23 (B) 18 ) 21 (D) 19

$9. 3R 3 10 fft afier f oie 71 &, it 90 Feoft s bive 3 # e 6 ot w0t 2, i 373 i e
ey 3 e 3ifem fufr Fm o 1 ’

(A) 1.6 Tt wmfivs faz & gm 9.6 Freft wrifrr fag &
(€) 10 fst wnfis faz i (D) 6 it wifivs fiz o

What is your final position in relation to your starting
90 degrees to the left and walked another 6 km?
(A) 116 km from starting point

- e \)
point if you have walked 10 km South, then turned

(B) 9.6 km from starting point
(D) 6km from starting point

Page 10 0f 24 T TTTTTTTTmesssesseecacen.
o g o
By 19 . e § s
- : “ T=
A
o LT .
Shivy
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S5

60.

61.

62,

63,

65.

66.

I

Y
5

e 5P0yN,

gs 6&
TH FAE H, 60% T 3 fraer A wr o 40% 3 Fewer B w3 wiz B ) afz ger s00 swam a, b e
=t 3 farpea A 1 gaa f o

In a survey, 60% of people preferred Option A and 40% preferred Option B. If there were a total of 500
respondents, how many of them preferred Option A ?

(A) 200 (B) 400 () Illl}&&; (D) 300
1w simer i suTeft He e fifsn) o)
Find the next number in the given number serics., <]
126, 112,98, 84,70, @)
(A) 63 (B) 56 (C) 53 — (D) 64

mmw&ﬁmammﬁmmﬁqﬁ;mmmﬁwm.
o7 - OF U= =i & T F R e 2

iz

1. Ha foret i e iR five v = s st atE 2 |

2. S ETE AR |

(A) Faa fred 2orr (B) T fFewd | sl 2w
(C) Fae e | o (D) @t fod =g &

Read the Statement and Conclusions given and decide which tgf he statement(s) is/are valid.
Statement : An apple is good for an individual’s health. 02
Conclusions :

1. Apples are a good way to keep someone healthy and fit. <] -?:‘,'S

2. Grapes are better than apples, @ z‘;"" 2
(A) Only Conclusion 2 is valid (B) Neiﬁ';_clr Conclusion 1 nor 2 is valid v ;—E b
(C) Only Conclusion 1 is valid (D) Bollﬂl’nc Conclusions are valid Q:TE <
farw e Argw | oW weE T i | ®) T b
Find the missing number in the given analogy. ~ -

251625388 E
A) (B) 1225 () 825 (D) 1115 : b
%‘;m@aﬁwg@mwm%mm f%!ﬂmmaﬁtgtm?ﬁwmmﬁmﬁmnﬁsm /95—
w32 ( ) X§
(A) o (B) Fgd ©) 7% D)_ufim R
What direction are you facing at the moment, if you start by (‘ﬁ’gng south-casCand turm around 225 degrees
anti-clockwise ?7 o
(A) South-cast (B) North-cast (©) East@ * (D) West S
ae farareT s AR st wa o 3 s o s | ] )/6'-‘23 é
Find out the alternative which will replace the question mark, /]
12:26::7:24 o

(A) 12 B) 9 © s @ (D) 6 Jé
A ard siaett 7 SpTEn e wE 1 A | s 2 3
Find the next letter cluster in the given series. x & --3

DA, HE, NK, RO, XU, e s

............................................................................

.BXV-24 Page 11 of 24
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67, Famfafom i 8 am ot e, ual aﬂtgﬂiﬁzﬂﬂ%zﬁmﬁrmmmﬂma?

Which of the following diagrams best illustrates the relationship between Pigeon, Bird and Dog ?

I\' (A) (B) (C) @ (D) @O

68. 40 faenfufaii ) v e, 20 3 Feer sfta e A 2 ol 15 3 mifier <31 2, Cicforickrill wﬁ:nrm%
%mmfma‘mﬁm.msﬁa%mmﬁﬁgm%|m%ﬂﬁ%ﬂmﬁﬁqwm
Y Sfta fasm @A = =) o
In a class of 40 students, 20 have chosen only Biology and 15 have chosen M hematics, but not Biology.
Given that every student has chosen cither Mathematics, or Biology, or both. ind the number of students
who chose both Mathematics and Biology.

(A) 15 B) $ (€) 20 Cdpy 40
69 Wﬁﬁ%%ﬁﬁﬂﬂ?ﬁﬁﬁfﬁﬂ?lﬂmﬁqmmPUNIS!IMENT%QLﬁ&:’TEWﬁFTH%?BTW
T | ®
Determine which of the provided words cannot be formed using the letters of the given word
PUNISHMENT.
(A), PAIN (B) SENT (C) PENT (D) PUSH
70.  WIGYE T A :
gfifaan ?[ﬁl’é L9 O
(A) |mft (B) w1 (C) ¥ ﬁm et
Complete the analogy : <]
Engincer : Blueprint : : Chef':
(A) Ingredients (B) Kitchen (C) Menu %D) Recipe
71, I ST AN 2
. e . <l
What will be the next letter ?
E:H:i:N:? )
(A) P (B) R ) 0 (D) Q
72, frafefae i & w581 sigr 5= 8 e e 0
(A) freeht — wmd (B) 7 - fafiarn
(C) @ - s (D) M - O
Which of the following pairs is different from the others ? g
(A) Cat — Mcow (B) Cow — Bleat p
(C) Dog - Bark (D) Lion - Roar \]
73. *Mmmmmmﬁmml"m%mmﬁ%ﬁﬁu#ﬂ%'-haa:rgi“mmwaﬁ
. &
(A) HHEm (B) TR () stnim <b) e

“The company's decision to downsize was prudent.”” What does the worl)'prudent™ imply about the
company’s decision to downsize ?

(A) Wise (B) Careless (C) Reckless ()] Hasty

BXV-23 ¥
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74. PIRQ SHETAT I pFRaralade
T WA BT I H o T (1) 3 (2) 31 R A st 8 0
(1) RpFEERART T AT
(2) U, Qftnid
(A) () B) (hak@a () FEe(l) (D) 7T (1)1 (2)
P and Q/aYe children of S. Who is the father of P ?
To answer this question which of the statements (1) and (2) is/are necessary ?
(1) R is the brother of P and the son of T. ./
(2) U is the mother of Q, o!
(A) Only(2) (B) ()and(2)b&tK  (C) Only (1) (D) Either (1) or (2)
75, Fow g Tt & vt e 3 sve o < AN seere, wra @ vt s 7 s A e A, A
AT § T eI O W 316t ATt 2
I, HRETIAGVSN |' ]
II.  FLNESAGOMI f ]
. EXSONHTIAU i
(A) Fad I B) Fein,m © () @it m (D) = 11
After exchanging the 3™ and 6™ letters and the 4™ and 9" letters, as well as the 5™ and 10" letters in the
given words, which series would result in a meaningful word afier this rearrangement ?
L. HRETIAGVSN
II. FLNESAGOMI
[1I. EXSONHTIAU e
(A) Onlyll (B) Only II, 11 OU (C) ANL LTI (D) Only I
76. ﬁﬁi’f{: of}
% mggftﬁazw - 3IgRiet : ? <'
(A) BT (B) Tfa @ (€) @ (D) =i
Complete the analogy : -
« Thermometer : Temperature :: Odome 1: ?
(A) Pressure (B) Speed <] (© Weight (D) Distance
77, HEHH G Fa FE | ©
Find the dissimilar numbers.
(A) 9,12 (B 5,20 (C) 15,60 (D) 10,15
78. frefafira st i fogs it d@en s Ao |
Determine the number of triangles in the following figure.
Q)
od
el
& l
®)
B/ 13 B) 7 [ (© 16 (D) 9
79. o mo fwe i & fawm @) # A |
(A) = (B) s @ (© (D) i
Find the odd one from the given alternatives. ™
(A) March (B) July (C) June (D) May
BXV.4 T T T  Page 1306 24
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go.  strfy 1o R Gt o @ & 1 el vzl o apepern Q) g, SRR 000, 1 & A R Yz 1 3o
Fife i 3w 3w gl wn e A By iy F s s iR |
Figure 1is related to 11 in a certain pattern. Following the same pattern, figure 11 is related to IV. Study the

pattern and select the answer figure which should be placed in place of V.

y w,
} P L@ LK o
‘\ D o D l: Q .rd?
S 9 D i
I 1l 1l @IV
IACHTFHM - ]
Answer figures : ,, /J
a a @ |a K
Coll M ® | K ©] o m| ©

81. = fau o fisi = s ifso

Study the figures given below :

9

©)
=t fow e foit o v o gfve it <o g ro et 1 v et 3 o sverdt s @
From the figures given below, choose the figure tlujtlwill be most suitable to continue the pattern given
above. @)

=
-

o k&

| 11 I I

(A) V B) 1l ) 1l (D) 1

.
~J
!

82. szqﬁﬁqmn@ﬁmﬁwﬁﬁuﬁmw%?;

What is the probability of drawing an ace from a padk of 52 cards ?

B,

2 <
(A) s (g‘h 52
(©) 11_3 (D) |
BXV23 T L T
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83. A sjmen i sl sy Ak
Find the next figure in the Riven series,
& sjre -

Given series :

00 -

> @)

(A) (B) U (D)
—A <
" & &)
84. Faar fam (35irg) Fi 3 it ©
Find the odd one out in the series.
Al, C9, E25, G49, 189
(A) C9 (B) E25 O(C) 189 (D) G49
85, H@eh H 3Tl H@e am i | :-j-j
Find the next number in the series. ,:I
145, 155, 175, 205, 245, ? @)

(A) 285 (B) 300 E](C) 295 (D) 290

86. A1 FEfAEIHE, A3 H@mmﬂaﬁﬁqﬁ@@ﬁzmm@mmmal

Out of the given figures, find the 3 figures that will form a square, when fitted together, A 5‘7.,_
t
D U Vl d A4 C
. ] o
| I 1] (l)V Q 7
(A) LILIV o(B) LIV C
o "!A-fy‘ Z ur
(C) L1V "I(D) I, +
4 - -‘
87. A CardzrdcavtQagid z QAnt daip, T | Prafirfer i & wra e mer 2 0 &
(A) P, AFTHETR | ](m C i p e ¥ W) P o
(C) PR A = i (wfim) # S ]m; Q. AFAATR | ) '1

' : . : . . I :
A is the son of C; C and Q are sisters; Z is the mm}wr of Q and P is the son of Z. Which of the following
statements is true ?

(A) P is the maternal uncle of A. (B) Cand P are sisters.
(C) P and A are cousins, (D) Qis the matermal grandfather of A.
R e L
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88, i sfeen 3 awwn, aft i MY sy b R 3ers 20 B, @ s i afa oy sy frer st o ad ¥, sl
I :m{{?n afsr w1 atar 3% et ol feeen R A s A s o

(A) 45 '(-i-;:m 63 71k
L&
() 36 o2 (D) 547

A lady said, “If you reverse my age digits, you'll }y:t my husband’s age. He is older, and the difference
between their ages is one-cleventh of their smn."“\Y}ImI is the man's age ?

1 3 (A) d5 veurs | !{“} 63 years
N oo
(C) 36 years . l(l)) 54 years
89.  HEE H 39Tel wrn e fa ©)

Find the next number in the serjes.
16, 10, 20, 14, 24,

(A) 18 (B) 12 (C) 28 Dy 16
90, 39 e F UG NG S A A wef@ Ay ()

(A) ®S B) f= o3 (c) amw (D) F=7d

. ‘ o

Find the word that does not belong to the set, /-I

(A) Lead (B) Tin (;)(C) Copper (D) Steel

o1, I (Faferen) T 3wt v (ofire) o 60 ekt 3 2t g wu wae (@) T i e
qﬁvnﬂagm.mqm.m)mmm%?q

(A) wEeE (FrEr) @)(B) wifer @)

(C) sifauaera (Ergwarn) (D) v (ufera)

A cylinder is intersected by a plane inclined at an angle of 60 degrees to its axis. What is the shape of the
resulting cross-section ?

(A) Parabola (B) Spiral

(C) Hyperbola { V(D) Ellipse

&)
92, s asirer i, wter et o ife i 33 ¥ e, = B, 2 it vead | v, e 6 e 18 21
e St 2fers o 48T 8 | O TR SR T AT R | 2, weerd F wwrer H A | AW A R AR 2
(A) (B) e 5 (© 2 (0 fr
|

- L~ ‘
In a conference, five participants are seated in :lrtlw: Alan, Bob, Chris, David and Edward. Alan is not
next to Chris. Bob is scated between Alan and David. Alan sits on one end. David is not next to Edward.
Who is seated in the middle ? .

(A) Bob (B) Alan @) (C) David (D) Chris

93,  AfE‘BEAR' T 25-22-26-0" & =4 1 shifed fFFar s 8, @1 *TIGER® 1 & e fwn smom 2
P
If*BEAR" is coded as *25-22-26-9", how will *'TIGER" be coded ?

(A) 79-11-4-17 (B) 8-9-12-5-17
(C) 9-10-13-6-17 (DY 7-18-20-22-9
12 e Y T3
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94, ey favam 3 v et & s i fe o e A
a. 2328 A FHaAl
b.  wH mmfin -
wpEn | | »
c.~ asq-ﬁ-mntnaa:ﬁ%tmr@ﬁ%#ﬁﬁfﬁ%ﬂ;MI
d.  FEYH SO H 8 S[Han 25 34 | ‘:,5
e. %%%aé:mpoﬁ%,?hmaﬁuﬁwa%lmﬁﬁmmmﬁql
f. ém%mmm?ﬁﬁ.ﬁmﬁ(‘)  fitferrer 1 S AT R |
g ;ﬁsuﬂammgmmaﬁmmmﬁu}m@]ﬁu@m%ﬁmﬁa%%ﬁﬁﬁmm
|
@
mm%mmmm%mﬂq-ﬁ;ﬁaﬁaﬁmqﬂw

af;;ﬁm:m%aiaﬁ%mmcmmmaé | ST % & 9 2.5 @ AP | 2L # 40 3F AW
|

(A) Irfiean 1 SR dwme wew % w0 i S

(B) =21 HWEHE E;d
(C) WTE &% o fawr 1 ds s 8 o
(D) Ifram = = 5 e s R <]

Consider the conditions for selecting faculty mcmbcrﬂ a computer education centre :

a Age between 23 to 28 years. <l

b.  Work experience or programming experience. &)

C Postgraduate degree in computer application with at least 60% marks.

d.  Minimum of 25 marks in the interview out of 50.

e. . If the candidate does not have PG, the case is to be referred to the senior faculty member.

f.  If the candidate does not have work experience, @ case is to be referred to Principal of the institute.

g.  If the candidate satisfies all other qualifications @¥cept the age limit, the case is to be referred to the
Director of the Centre. od
” L3
Which course of action should be taken for Babli Surk:irLuscd on the following information ?
Babli Sarkar : MCA with 68% marks. Age 30 ycnrs.(g-,]ﬁ years of experience as a programmer. Obtained
40 marks in the interview. _l

(A) Candidate is to be selected as a junior faculty mt'i_gi)Lcr
t

(B) Data is inadequate

(C) Case is to be referred to the Director of the Centre

(D) Candidate is not to be selected -

BXV-24 Page 17 of 24
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g A R

(A) T (1) v () fan (D) e
96. I A A 21 yEre A afaa s A
(A) AT =R A s A (3) 18 AT Era0 Fa=
(©) 3t wifer 0% v 32 {m T T 2T
h 97, 31 % 3y wpaferal % am A ot @ |
(A) Tl arg ﬁm A A A
(C) et e [?./ AT AT FAT
98. Ioum el IR A R 2
(A "aw (B) A %‘C} T (D) P
2. weEn, e, A 6 G d |
(A) [T frar (B) e forn <lc; Tt (D) F== 1
0. H. 1007 104 Terivr usy ® |

St 7T I SO R, W WA RSt an 36 HY el & POk e i 36w S w3 | 5 ot 7F wwd & =i a
m?mmmﬁmﬁwﬁﬁmwsqﬁmmaﬂrﬁa?fsmﬁmmmwwﬁwrw
ﬁmqamﬁﬂﬁ!mmﬁmﬁmmﬁnmm%W1ﬂgﬁgﬁmwawr-maq=rm
HATA 2, W 9 Feam 5 Srea I o e v 18 mlwmmmsﬁ*mrhlﬂrarm ToEs fi
e Fifeem, o @t i g wpeed o o o &, o o A 7 ot @ B AT T 7 ¥ | of B, e 3
mnmﬁmﬁﬁmmqﬁma‘lmmm BT )

100. 7= F1 A1 37 BT 2 0

(A) FHEH (B) frsmrasd éa Td (D) s
. TRITST T I i e ]
gé),ﬁm (B) 3= <fC1 B (D) FaT &y
SIFFHE:
(A) STEHT (B) FHE @{C) FEAMT (D) #§mT
. e it deatey safenat 7 -
(A) WTETAITER | (B) Iare=n o) ord @
(C) face 33w (D) Wl
. TIEITT ¥ I S T R 37 @ O
(A) &1 (B) HeT oqC) g (D) 3ae
105, @ fra a2 2
(A) @& e 4 feraar 2| f};u o3 A ot fird 8
(C) THMHIFAA| ©lp) TR W A G R |
106. *3f1Ear 37 iz wrapd 2.
(A) #1307 HEr <113) a3t e
(C) @F 3 ar @,193‘ farlet axemm wen 3 wemn
107. F=ferfas i sem 2
(A) 7w (B) aftor (C) wrd (D) =@
B R A R R S S R e
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108,30 (Hr1) & wormm ¥

(A) g Fardt P () frefiare

(C) g da () (D) Fmiwt wam
109. e § Paar a2 o

(A). SR ) gl 5 () fay (D) e
0. P i o) Rra a2 <

(A) ‘ﬂfﬁm (1), WaATH © () e fam (D) Fders fm
111, e 3 SR W 3rea) % R Ne frrau i) PR AR RIS o A

(A) @29a (B) feaafi d () Tam () A
112, T & v ¥ forw anfies armastt qreanm form d&rmT 61 o v 0

(A) FyFw R (B) s FE (C), A AR (D) fa= fien
113, fF=fafan weei & v o it 2

(A) 3 (B) 3R (C), 3 (D) 37T
114, fFreferfad § & am % w2 =1 At ®

(A)  fyet grgam &1 wpe = @ | o (B)_FIoel Hivaw =1 #he =42 o7 |

(C) fhad dmar #1 e g 8 | o3 (D) frer wwaR 1S5 72 A2 |

115, fr=fafaa a6 @ Fram am a0
(A) WISTH2A T 361 WA coell # 14 & 7t (©)
(B) T 3 W oo s s 2 [
(C) 719 1 291 91 T SEAT 7T 55 |
(D) mﬁmmﬁua’mﬂrﬁzﬁfaﬁmmt@u%l

116, Far & w fimd & - gware § & fra s wAwR

(A) G (B) FRH () (D) if
117, @] € ST E | AT ST A AR 2

(A) =@l B) & 0O (© # (D)_BF
118. f s 3 ferg uah v & o

ST FET A A HE ]

(A) SFFeHI @) AnmiE <] (C) i (D) e
119, forn-fadron 3 warm i 7 e a1 frferfii @ w-a g ad T @2

(A)  FFaTTF foran-fagmm - iy (] 3y aftsorar v fago e

(C) FrermenT frn-fagmwr - aur <] ) frufasius fn-fgne @ a
120. AR F ERia e ®)

(A) 4 (B) /Ie0TE (C) M (D) frem
121, ~3fra = e dm .

(A) Tt (B) A0 (C) 33 (D) For
122, ‘®WE & FE AT R w20

(A) T FE (B) T AFTE (€) ol syewrer (D) e i
3% Page 19 0f24 T

Scanned with CamScanner



v ]

123, Ffafaa o & vw fono o )

(A) wes (B) we D (C) &1 (D) =
124, R w5 by e @ am ol
(A) Zq (B)_ah "5 () Fmfy (D) Afrfy
125, e &y ¥ wifian § <
" (A) R @ wr @) Frren (D) 79 et A7
N, gﬁmmmﬁﬁmmmmﬂmﬁ’%ﬁ:
(A) ufy - fam ®) fFwr-afm < () Fa-Fm (D) s - =
127, SR T &1 e e 3 @
(A) ©H (B) it (cl_}im (D) Fe\me
128. “WRE" e a1 whfei @ @m0
(A) (B) e (C) wedt (D) =7
129. 3013&\-ﬁa§ammm'a:%qmﬁmnwﬁs&ﬁmw-r
(A) Tz MR (B) Twamarfigsr o (C) sizaid 2aamt (D) gavew
130. Fy=ferfaa i & #-am v wemm #1 amem ¥
(A) = (B) W 4 o= (D) =
131, Faforfen & & .01 7 qam 2 ©
(A) s ® sta [ o sm (D) 3T

132. @ FWEE # 60% A 30 T § wfrw by 6 sk g @ 750 ww § s dwowerd B 2
30 7% 3ATF 1 % 135 o A , 1 B T A A e den Gy o

In a factory, 60% of the workers are above 30 years and of these 75% are males and the rest are females. If
there are 135 male workers above 30 years, the total number of workers in the factory is

(A) 200 (B) 150 (C) 300 (D) 180
133. qmﬂaﬁrmi‘rm%aﬁwwmﬁﬁloﬁamaﬁa&ﬁmm%;ﬁ%ﬂﬁwﬁm@
w2 L

A 20% reduction in the price of an apple cﬁnlcs a man to buy 10 apples more for 54, Then what is the
reduced price of apples per dozen ?

(A) T12.96 (B) T14.48 ":] (C) T1432 (D) T10.80

134, v fivem 4, 29 ST # 3 2 5 % S ﬁamam%aﬂragﬁﬁlmvfiar&iﬁ: | 3% svura & firema s
& 1 2t frermt = ael v Ao e ﬁﬁammm&qmﬁ:mﬁsmﬁaymmﬂl;tﬁ:
ST H 7 2 <]
In a glass, milk and water are mixed in the(fdtio of 3 : 5 and in another glass they are mixed in the ratio of

6 2 1. In what ratio should the contents of the two glasses be mixed together so that the new mixture
contains milk and water in the ratiool 1 : 1 ?

(A) 8:3 (B) 25:9 ey 2027 (D) 27:4
135. 72 [R1 31 70 e 60 YA o forerr e e @ A ey wftera w d o
The cost price of 72 books is equal to the selling price of 60 books. What is the gain percent ?

(A) 16_2"% (B) 8;% (C) 20% (D) 18%

BXV-24 Page 20 of 24

..

Scanned with CamScanner




136. 3% % H T 50 1 60 M 7w & Tl st & it 60 i 50 6 70 =R, A EnT wfagm o
IT bananas arc bought at the rate of 60 for T 50 and sold at the rate of 50 for ¥ 60, what is the profit
percent ?

(A) 42% (B) 48% (C) 66% (D) 44%

137. 12, 18, 20, 25 %1 &an qumaet (LCM) 3 i)
Find the LCM of 12, 18, 20, 25.

(A) 880 (B) 920 (C) 860 (D) 900

138, % G20 S ST R B 9 4, 6, 50 e 12 21 B e s , v i feafdt i 3 s
FAATL | ,} o’
Find the ledst number which when divided by 4, (,IP 10 and 12 Icaves the remainder 3 in all cases.
(A) 132 (B) 117 @ (© 123 (D) 120

139. A o ffi e v 120 Rl F wcwwar 21 B, A[F60% stfirs e & | a3 F0 F A F o B swE
et R a2 <]

(A) sofm B) 70 @ (© 75f (D) 10

A can do a certain job in 120 days. B is 60% more efficient than A. To do the same job B alone would take

how many days ?

(A) 80 days (B) 70 days (C) 75 days (D) 10 days

140, wF =ftw 600 Frft i 2ft g ama so el i =mer &, so0 faft wand st 2m 400 e i e 5 sl
100 fefeft wireramsfe grr 50 itz £ are & ao s & | g gl % fom sl =we w2

(A) 13012% frdfider  (B) 62 s zg((:) ﬁsl;—3 ffisa (D) 60 l{ Fesftear

A person travels 600 km by truck at 80 knvh';k{)() km by aeroplane at 400 km'hr and 100 km by
motorcycle at 50 km/h, What is the average speed@for the entire distance ?

‘
(A) 130% km/hr (B) 62 km/hr D(C) 651% km/hr (DY 60 1:3 knvhr

<
141, U ARl ¥ 25,220 I At & S 8w, a1 St i ok are i e e F 8 e w0 3d ® ) af ey
ST Y 7T 5% B, A T P #1 e T4 Fi |
A woman borrowed ¥ 25,220 and she returned the money in three equal instalments after one, two and
three years. If the rate of compound interest is 5%, then find the value of cach instalment.

(A) TR000 (B) 7926l (C) TR.261 (DY 9,000

142. A Forelt o 0 qu ek 3 B o T 50% SHfRreh s o & | aft & o e g w27 R A g,
A1 B 37t w1 3 e Jma s 2 ol

(A) 3s5f= (B) 45 fa= 8 ) 30fm (D) 40 f=

A takes 50% more time to complete a work lhaﬁ:h. If together they take 27 days to complete the work,
how much time shall B take to do it alone ? ©)

(A) 35 days (B) 45 days [ | (C) 30 days (D) 40 days

143, ARG =19 90T 3,000 0 fdr 3 et 7 76,000 e & | a ww ad & fer s e &
A sum of T 3,000 amounts to T 6,000 in two yearsiay compound interest. The interest for four years is
(A) 712,000 (B) ¥3.000 (C) E9.000 (D) T6.000

-------------------------------------------------------------------------------------------------
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144, ek 2 i3 ot w1206 o) g ¥ ¥, v REAR 21% 1 e aiffa e ¥ ) af A e gz e A,

ar aw frar sy arfdfa o

After giving a discount of 12% on the marked price of a book, a shopkeeper earns a profit of 21%. [f he
doesn’t give this discount, then how much profit would he carn ?

(A) 25% (B) 31.5% (€) 40% (D) 37.5%

1Y T g v ik 3 i e e 10% gz R af A e 7 3,600 , A st g T
ST A% THaT 100 2 23 % A 20% F1 ey il ok |
A shopkeeper allows a discount of 10% on the marked price of a camera. If the cost price of the camera is
T 3,600, find the marked price so that Sllopktepur\f.‘dn earn a profit of 20%, after allowing 10% discount.

(A) T3,650 (B) #5,700 ]{C) ¥ 4,800 (D) ¥4,750

146. A, B 3R C 3 ek ardiert 3 sy Fam sl 3o W oFma 5 ¢ 4 - 3 1| 4 7 3 A, B A 71,000 A
e fru afte 8 5l F e, (%fanogmﬁhﬁﬁ%ﬁﬁqmﬁ@aﬁ%mﬁ.mw 15:14: 11,
a1 I3IE 3§ C 7 i -

A, B and C entered into a partnership, and their |n\chlmcnt ratio was 5 : 4 : 3. After 4 months, B invested
7 1,000 more and after 8 months, C invested 2‘&30 more. At the end of one year, if the profit ratio was
15 : 141 11, then find the investment of C at the beginning.

(A) 6,000 (B) *7,500 (C) 3,000 (D) T4,500

147, U WA H, xd’:ﬁm %vsm m%fﬁqﬁ%nm% X - tﬁﬁ LRE AT rAEE TR LA
maﬁ%—mmdgﬁﬁaﬂm% wﬁa&%mn;@hmﬂ?ﬂ 000% a‘waﬂﬁmmm

1y
In a partnership, X invests p M of the capital for tjh of the time, Y invests ; ™ of the capital for %“1 time

5

and Z invests the remaining capital for the wholl time. If at the end of the vear the profit eamed is

% 23,000, then what will be Y’s share ? Q@
(A) 5000 (B) *4,000 L) =5.500 (D) %6,000

148. a2 a, b, ¢, d, e T FEWTE fagw HEmd €, a’rm:—\lmﬁw-gu

If a, b, c,d, e are five consecutive odd numbers, 'fm:n their average is
abcde

(A) 8 (B) a+4 (C) 6(a+4) (D) a+b+c+d+e)
149, i sl # 9, gal geelt A 0 i drad A foph ¥ ) af @6 e @ s 44 2, @ v T v
TR

Of the three numbers, the second is twice the Ilm'} [knd thrice the third. If the average of the three numbers
is 44, the largest number is

'\’5
(A) 72 (B) 108 A0 24 (D) 36

150. g4 31 T 3 2025 e fysor A, WWMWW 12: 13 1A 12 15 % 3rqura § g 3R ot 4 0
wﬁwmw%m%ﬁmﬁqﬁﬁﬁmaﬁaﬂ HTATTHAT & 2
(A) 162 &t (B) 150t {C) 160 =X (D) 156 &tex
In a 2025 litre mixture of milk and water, the ralm of milk to water 1s 12 : 13, To get a new mixture
containing milk and water in the ratio of 12 15, the amount of water to be added is

(A) 162 litres (B) 150 litres (C) 160 litres (D) 156 litres
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